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Calculator test L4/5 test 1a


Date: 


1)            + 47 = 1254 - 845





2) 26 x          = 1690


3)  �    ÷  4  = 21





4) The rule in the sequence is find half the last number and add 10. 


36    28   24   �   �





5) Write what the missing 3 digits could be.


��  x  �  = 378


 





6) Calculate 3/8 of 980








7)  Cheddar cheese costs £7.50 for 1kg.


Marie buys 200 grams of cheddar cheese.


How much does she pay?





8) Cream cheese costs £3.60 for 1kg.


Robbie buys a pot of cream cheese for 90p.	


How many grams of cream cheese does he buy?





9) Circle three numbers which add to make 190 


10	30	50	70	90





10)   Plants are sold in trays of 20 


David wants 240 plants.


How many trays does he need to buy?











Calculator test L4/5 test 1b


Date: 


1)            + 934 = 2543 - 643





2) 32 x          = 1440


3)  �    ÷  5  = 34





4) The rule in the sequence is find double the last number and minus 10. 


36    62   114   �   �





5) Write what the missing 3 digits could be.


��  x  �  = 504


 





6) Calculate 2/6 of 564








7)  Cheddar cheese costs £8.60 for 1kg.


Marie buys 200 grams of cheddar cheese.


How much does she pay?





8) Cream cheese costs £50.40 for 1kg.


Robbie buys a pot of cream cheese for 80p.	


How many grams of cream cheese does he buy?





9) Circle Four numbers which add to make 240 


30	80	50	70	90





10)   Plants are sold in trays of 20 


David wants 860 plants.


How many trays does he need to buy?
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